
8,      14,      20,        _____,          _____,          _____

11,       6,         1,       _____,          _____,        _____,

Find missing terms of the sequence.

2,        4,       6,          _____,          _____,          _____

2,       -4,      -10,      _____,          _____,          _____

-8,       -5,       -2,       _____,          _____,          _____

ଵ

ଶ
⎯,         ଷ

ଶ
⎯,         ହ

ଶ
⎯,       _____,          _____,          _____

0.33,   0.34,    0.35,      _____,          _____,          _____

ଵ

ଶ
⎯,         ଵ

ସ
⎯,         0,        _____,          _____,          _____

-7,            _____,           3,            _____,          _____,                

4,           _____,        _____,         25,         _____,                

𝑥, 𝑥 + 1, 𝑥 + 2, ______,   _______, _______

5,        _____,      _____,         20,            25,         

2,          _____,           _____,           8,             10,                

2,         _____,         _____,        -4,             -6,             

7,            _____,        _____,       -32,           ____,         

13,         _____,        _____,         ____,         81          

𝑥 + 1, 3𝑥 − 1,   2𝑥 + 3,      _____,       _____,
3,5,7, x=2

8,12,16,20 x=3

4,10,16    𝑥 = 4

2𝑥 + 2,  _______,  7𝑥 − 5,     5𝑥 + 5,

𝑥ଶ − 12,   𝑥ଶ − 2𝑥 + 2,   2𝑥2 − 3𝑥 − 4,      _____,

______,          _____,          _____,        8,       10,        12                 

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥, 𝑎𝑛𝑑 𝑚𝑖𝑠𝑠𝑖𝑛𝑔 𝑡𝑒𝑟𝑚𝑠

5,         _____,           17,           _____,          _____,                  

4,            _____,            -2,          _____,          _____,               

2,         _____,            -8,            _____,          _____,                 

13,17,31    𝑥 = −5
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   1, 3, 5, 7, …

   Circle the first term, write 𝒕𝟏 =        , 𝒂𝒏𝒅 find the common difference, twice.

    3, 7, 11, 15, ….

   0.3, 0.31, 0.32, 0.33, …16, 21, 26, 31, 36

8, 14, 20, 26, 32

12, 17, 22, 27, 32 −10, −12, −14, − 16, −18 14, 19, 24, 29, 34

2, 3, 4, 5, 6 −3, −5, −7, −9, −11 5, 11, 17, 23, 29

9, 12, 15, 18, 21

𝑑 = 3 − 1 = 2
𝑑 = 5 − 3 = 2

𝑡ଵ = 1 𝑡ଵ =

𝑑 =
𝑑 =

10, 8, 6, … 3, −1, −5, . . 5, 2.5, 0, …

−
1

2
⎯⎯, −

3

2
⎯⎯, −

5

2
⎯⎯, …

9

2
⎯⎯,

7

2
⎯⎯,

5

2
⎯⎯, … . 27, 13, −1, …
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Write the first 5 terms of the sequence

𝑡ଵ = 2, 𝑑 = 3 𝑡ଵ = 4, 𝑑 = −3 𝑡ଵ = −4, 𝑑 = 5

𝑡ଵ = −7, 𝑡ଷ = 3
𝑡ଵ = 5, 𝑡ଷ = 15

𝑡ଵ = 2, 𝑡ସ = −4 𝑡ଵ = 7, 𝑡ସ = −32

𝑡ଵ = 13, 𝑡ହ = 81 𝑡ଵ = 2𝑥 − 8, 𝑡ଷ = 3𝑥 − 2

6,13,19, 𝑥 = 7
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Find 𝑡ଵ 𝑎𝑛𝑑 𝑑

𝑡ଶ = 2, 𝑡ଷ = 4 𝑡ଶ = 15, 𝑡ଷ = 20

𝑡ଶ = 2, 𝑡ସ = −8 𝑡ଶ = 8, 𝑡ସ = −32

𝑡ଶ = 2, 𝑡ହ = −13

𝑡ଷ = 4, 𝑡ଵ଴ = 39
𝑡ଷ = 3, 𝑡ଵଶ = −1527

𝑡ଶ = 3, 𝑡଺ = 23

C11 - 1.1 - Arithmetic Means HW
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𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑡ଵ =

𝑑 = 𝑑 =

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒕𝒆𝒏𝒕𝒉 𝒕𝒆𝒓𝒎 𝒕𝟏𝟎? 

𝑡௡ =

𝟑𝟏 𝒊𝒔 𝒘𝒉𝒂𝒕 𝒕𝒆𝒓𝒎, 𝒕𝒏 = 𝟑𝟏, 𝒏 =?

𝑡௡ =

𝑑 =  𝑡௡ − 𝑡௡ିଵ 𝑑 =  𝑡௡ − 𝑡௡ିଵ

Remember: You could have also added 
the common difference 7 times to 
Term 3 (𝑡ଷ)

1. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐺𝑒𝑛𝑒𝑟𝑎𝑙 𝑡𝑒𝑟𝑚 𝑡௡ =?

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 3,5,7,

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 3,5,7,

𝑇ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑡𝑒𝑟𝑚 𝑝𝑙𝑢𝑠 n 
ᇱ − 1ᇱ 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒𝑠

Arithmetic: d must always be the ____________

__________________

Or, Start from beginning

General term formula

3   , 5   ,  7   ,____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ସ

++

____                   
𝑡ଷ

____                   
𝑡ହ

____                   
𝑡௡

, …..

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

? ? ?

𝑛 = 3
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Find the General term. 

3,         7,         11,         15,   ….

4,         9,         14,         …

Find the 18th term. 𝒕𝟏𝟖 =?

7,         10,         13,          …

Find out what term 63 is. 𝒕𝒏 = 𝟔𝟑.

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑑 =

𝑑 =

𝑡ଵ =

Find the General term. Find the 12th term. 𝒕𝟏𝟐 =? Find out what term 49 is. 𝒕𝒏 = 𝟒𝟗.

Find the 20th term. 𝒕𝟐𝟎 =?Find the General term. Find out what term 64 is. 𝒕𝒏 = 𝟔𝟒.

C11 - 1.1 - Arithmetic General Term, nth terms HW
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3,    +     7,    +     11,    +      _____,    +      _____,    +      _____

8,         14,         20,          _____,          _____,          _____

7,         10,         13,          _____,          _____,          _____

11,         14,         17,          _____,          _____,          _____

6,         8,         10,          _____,          _____,          _____

Find the sum of the first sixth terms of the sequence.

2,    +    4,   +    6,    +      _____,    +      _____,    +      _____

2,         6,         10,          _____,          _____,          _____

3,         10,         17,          _____,          _____,          _____

8,         13,         18,          _____,          _____,          _____

7,         14,         21,          _____,          _____,          _____

11,         17,         23,          _____,          _____,          _____

8,         7,         6,          _____,          _____,          _____

7,         2,         -3,          _____,          _____,          _____

11,         8,         5,          _____,          _____,          _____

6,         5,         4,          _____,          _____,          _____

=

=

=
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𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝑡ଵ =

𝑑 = 𝑑 =

𝑡௡ =

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

Sum of "𝑛" 
terms formula: 
if 𝑡௡ is known.

Sum of "𝑛" terms 
formula: if 
𝑡௡ is not known.

𝑑 =  𝑡௡ − 𝑡௡ିଵ 𝑑 =  𝑡௡ − 𝑡௡ିଵ

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

3   , 5   ,  7   ,____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ସ

++

𝑑 =  𝑡௡ − 𝑡௡ିଵ

____                   
𝑡ଷ

____                   
𝑡ହ

____                   
𝑡௡

, …..

OR

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

? ? ?

𝑛 = 3

𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 3 + 5 + 7 +

𝟒. 𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒕𝒘𝒆𝒍𝒗𝒆 𝒕𝒆𝒓𝒎𝒔 𝒔𝟏𝟐? 𝒔𝟏𝟐 =? , 𝒏 = 𝟏𝟐.
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Find the sum of the first 12 terms. 𝒔𝟏𝟐 =? , 𝒏 = 𝟏𝟐

3,         7,         11,         15,          ….

Find the sum of the first 18 terms  

7,         10,         13,          …

Find the sum of the first 100 terms.

Find the sum of the first 251 terms.

   14, 38, 62, 86, …

8, 14, 20, 26, 32 6, 13, 20, 27, 34

5, 11, 17, 23, 29

10, 8, 6, … 3, −1, −5, . . 5, 2.5, 0, …

1

2
⎯⎯,

3

2
⎯⎯,

5

2
⎯⎯, …

9

2
⎯⎯,

7

2
⎯⎯,

5

2
⎯⎯, … . 27, 13, −1, …
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Find "n" the number of terms

-25, -42, -59,……….-569

15, 16, 17, 18, 19 … … … 100 4, 8, 12, 16, 20 … … . . 444

13, 15, 17, 19, … … … .273

8, -6, -20,……….-160

3, 5, 7, 9, 11 … … … . . 139

9, 12, 15, 18, 21 … … … .3342 2, -2, -6, ………-410

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑡௡
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Find n and the sum.

12 + 18 + 24 +  … + 72
8 + (−2) + (−12) +  … + (−102)

10, 12, 14, … … .88
14, 19, 24, 29, 34 … … 99

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑 𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

16, 21, 26, 31, … … 1001

4, 8, 12, 16, … … 400
3, 5, 7, 9, … … … 371
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1,        2,       4,          _____,          _____,          _____

5,       20,       80,     _____,        _____,        _____

4,         6,         9,     _____,          _____,          _____

−4,       2,       −1,       _____,          _____,          _____

Find the missing terms of the sequence.

2,        4,       8,          _____,          _____,          _____

9,        3,        1,         _____,          _____,          _____

10,       100,     1000,    _____,        _____,        _____

-4,         -2,         -1,      _____,          _____,          _____

.5,      .25,         .125,     _____,        _____,        _____

ଶ

଻
⎯,         ଵଶ

ଷହ
⎯⎯,         ଻ଶ

ଵ଻ହ
⎯⎯⎯,      _____,      _____,      _____

6,         -1,         ଵ
଺
⎯,      _____,       _____,          _____

ଵ

ଷ
⎯,         ଶ

ଽ
⎯,         ସ

ଶ଻
⎯⎯,        _____,        _____,          _____

ଵ

ଶ
⎯,         ଷ

ଶ
⎯,         ଽ

ଶ
⎯,        _____,          _____,        _____

_____,      _____,        _____,       27,        81,   243,          

_____,       _____,        _____,       625,      3125          

_____,      _____,       _____,      -1,        ଵ
ହ
⎯,       − ଵ

ଶହ
⎯⎯,          

4,           _____              ଵ

ଵ଺
⎯⎯,         _____,         _____,                 

𝑥, 𝑥ଶ,   𝑥ଷ,  ______, _____, _____

5,     _____,      _____,      40,        80,       160,          

2,     _____,       _____,      16,        _____,       _____,          

1,     _____,          _____,         − ଵ

଼
⎯,        ଵ

ଵ଺
⎯⎯,    − ଵ

ଷଶ
⎯⎯,          

𝑥 + 1,     _____,          _____,         (𝑥 + 1)ସ,      ____,            

3,     _____,          _____,         ,      ____,    243          

5,         _____                      _____,          _____,

2,      ____          32,          _____,          _____,

𝑥 − 2,        2𝑥 + 2,   8𝑥 + 8, _____,     

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥, 𝑎𝑛𝑑 𝑚𝑖𝑠𝑠𝑖𝑛𝑔 𝑡𝑒𝑟𝑚𝑠

3,12,48    𝑥 = 5
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Write the first  terms 5 of the sequence

𝑡ଵ = 2, 𝑟 = 3 𝑡ଵ = 4, 𝑟 = −3 𝑡ଵ = −4, 𝑟 =
1

2
⎯⎯

𝑡ଵ = 4, 𝑡ଷ = 16
𝑡ଵ = 5, 𝑡ଷ = 20

𝑡ଵ = 2, 𝑡ସ = −54
𝑡ଵ = 1, 𝑡ସ =

1

8
⎯⎯

𝑡ଵ = 3, 𝑡ହ = 243 𝑡ଵ = 𝑥 − 1, 𝑡ଷ = 4𝑥 − 4
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Find 𝑡ଵ 𝑎𝑛𝑑 𝑟

𝑡ଶ = 2, 𝑡ଷ = 4 𝑡ଶ = 10, 𝑡ଷ = 20

𝑡ଶ = 2, 𝑡ସ = 96 𝑡ଶ = 8, 𝑡ସ = 32

𝑡ଶ = 2, 𝑡ହ = −16

𝑡ଷ = 4, 𝑡ଵ଴ = 512
𝑡ଷ = −3, 𝑡ଵଶ = −59049

𝑡ଶ = 2, 𝑡଺ = 32
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Find the first term 𝒕𝟏, and the common ratio twice.

𝑡ଵ = 2

𝑟 =
4

2
⎯⎯= 2

𝑟 =
8

4
⎯⎯= 2

𝑡ଵ =

𝑟 =

𝑟 =

2, 4, 8, . . 3, 9, 27, … 5, 25, 125, …

2,
1

2
⎯⎯,

1

8
⎯⎯, …

8, −4, 2, … −6, −36, −216 5, 10, 20, …

−27, −3, −
1

3
⎯⎯, … 27, 3,

1

3
⎯⎯, 

1, −1, 1, … −10, 100, −1000, … 0.3, 0.03, 0.003, …

C11 - 1.3 - Geometric Sequence 𝑓𝑖𝑛𝑑 𝑡ଵ, 𝑟 WS
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Find the General Term

𝑡ଵ = 𝑟 =

𝑟 =

2, 6, 18, . .

2, 4, 8, …

8, −2,
1

2
⎯⎯, …

0.3, 0.03, 0.003, …

𝑡௡ = 𝑡ଵ𝑟௡ିଵ

Find the 6th term. 𝒕𝟔 =? Find out what term 162 is. 𝒕𝒏 = 𝟏𝟔𝟐.

Find the 8th term. 𝒕𝟖 =? Find out what term 𝟏

𝟏𝟐𝟖
⎯⎯⎯is. 𝒕𝒏 = −

𝟏

𝟏𝟐𝟖
⎯⎯⎯.

Find the 5th term. 𝒕𝟓 =? Find out what term 0.00000003 is.

Find the General Term

Find the General Term

Find the General Term

Find the 12th term. 𝒕𝟏𝟐 =? Find out what term 128 is. 𝒕𝒏 = 𝟏𝟐𝟖.
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𝑡ଵ = 𝑓𝑖𝑟𝑠𝑡 𝑡𝑒𝑟𝑚 
𝑟 = 𝑐𝑜𝑚𝑚𝑜𝑛 𝑟𝑎𝑡𝑖𝑜    
𝑡௡ = 𝑡𝑒𝑟𝑚 𝑛
𝑛 = 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑡𝑒𝑟𝑚𝑠

𝑡௡ = 𝑡ଵ𝑟௡ିଵ General term formula

𝑡ଵ = 2

𝑟 =

𝑡௡ =

𝑟 =
𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯

2   ,    6 ,   18   , …                  , …       ____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ଷ

____
𝑡଺

____
𝑡௡

× 3× 3

Geometric: r must always be the same

Remember: You could have also multiplied the common ratio 2 times to 𝑡ଷ

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

??

𝑛 = 3

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐺𝑒𝑛𝑒𝑟𝑎𝑙 𝑡𝑒𝑟𝑚 𝑡௡ =?

𝑡௡ = 𝑡ଵ𝑟௡ିଵ

𝐴 𝑡𝑒𝑟𝑚 𝑑𝑖𝑣𝑖𝑑𝑒𝑑 𝑏𝑦 𝑡ℎ𝑒 𝑡𝑒𝑟𝑚 𝑏𝑒𝑓𝑜𝑟𝑒 𝑖𝑡

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 2,6,18,

𝑟 =

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒇𝒊𝒇𝒕𝒉 𝒕𝒆𝒓𝒎 𝒕𝟓? 𝒕𝟓 =? , 𝒏 = 𝟓.

3. 𝑇ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 1458 𝑖𝑠 𝑤ℎ𝑎𝑡 𝑡𝑒𝑟𝑚? 𝑡௡ = 1458, 𝑛 =?

𝑡௡ = 𝑡ଵ𝑟௡ିଵ
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2, 4, 8, … . . 256 3, 9, 27, … … . . 729 4, 8, 16, … … .2048

2,
1

2
⎯⎯,

1

8
⎯⎯, … … …

1

512
⎯⎯⎯

8, −4, 2, … … . .
1

256
⎯⎯⎯ −6, −36, −216 … … … − 46656 5, 10, 20, … … … 160

9, −3, 1, … …
1

81
⎯⎯⎯ 27, 3,

1

3
⎯⎯, … … . .

1

2187
⎯⎯⎯⎯⎯

1, 2, 4, … … .65536 10, 100, 1000, … … .1000000 0.3, 0.03, 0.003, … 0.00000000003

Find "n" the number of terms

𝑡௡ = 𝑡ଵ𝑟௡ିଵ

𝑡௡
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3,    +     9,    +     27,    +      _____,    +      _____,     +     _____     =

1,    +     2,    +     4,     +     _____,   +       _____,   +       _____     =

5,    +     20,   +      80,     +     _____,    +      _____,   +       ____     =

4,    +     6,   +      9,  +        _____,   +       _____,     +     _____     =

4,     +    2,   +      1,    +      _____,    +     _____,    +      _____     =

   Find the fourth, fifth and sixth terms of the sequence.

2,   +     4,       8,   +       _____,   +       _____,  +        _____     =

9,   +      3,    +     1,    +      _____,    +      _____,    +      _____     =

10,      +   100,    +     1000,    +      _____,   +       _____,      +    _____     =

4,    +     10,   +      25,    +      _____,    +      _____,    +      _____     =

7,    +     14,   +      28,     +     _____,    +      _____,    +      _____     =

2,     +    12,     +    72,     +     _____,     +     _____,    +      _____     =

6,    +     1,   +      ଵ
଺
⎯,   +       _____,    +      _____,    +      _____     =

ଵ

ଷ
⎯,   +      ଵ

ଽ
⎯,   +      1/27,    +      _____,     +     _____,     +     _____     =

2,   +      −4,   +      8,   +       _____,    +      _____,     +     _____     =

ଵ

ଶ
⎯,    +     ଷ

ଶ
⎯,    +     ଽ

ଶ
⎯,    +      _____,   +       _____,      +    _____     =

𝑥, + 𝑥ଶ, +  𝑥ଷ, +  ______,  +   _____, +_____     =
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𝑡ଵ = 𝑓𝑖𝑟𝑠𝑡 𝑡𝑒𝑟𝑚 
𝑟 = 𝑐𝑜𝑚𝑚𝑜𝑛 𝑟𝑎𝑡𝑖𝑜    
𝑡௡ = 𝑡𝑒𝑟𝑚 𝑛
𝑛 = 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑡𝑒𝑟𝑚𝑠

𝑡ଵ = 2

𝑟 =

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒔𝒊𝒙 𝒕𝒆𝒓𝒎𝒔 𝒔𝟔? 𝒔𝟔 =? , 𝒏 = 𝟔.

Sum of "𝑛" terms formula 
(if number of terms is 
known)

Sum of "𝑛" terms formula 
(if last term 𝑡௡ is known)

𝑡௡ =

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯

𝑟 =
𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯

2   ,    6 ,   18   , …                  , …       ____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ଷ

____
𝑡଺

____
𝑡௡

× 3× 3

Geometric: r must always be the same

OR

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒂𝒏 𝒊𝒏𝒇𝒊𝒏𝒊𝒕𝒆 𝒏𝒖𝒎𝒃𝒆𝒓 𝒐𝒇 𝒕𝒆𝒓𝒎𝒔?

𝑟 = 𝑟 > 1, ∴

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

??

𝑛 = 3

𝐴 𝑡𝑒𝑟𝑚 𝑑𝑖𝑣𝑖𝑑𝑒𝑑 𝑏𝑦 𝑡ℎ𝑒 𝑡𝑒𝑟𝑚 𝑏𝑒𝑓𝑜𝑟𝑒 𝑖𝑡

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 2 + 6 + 18 +

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯

𝑟 =
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2, 4, 8, . . 3, 9, 27, … 5, 25, 125, …

2,
1

2
⎯⎯,

1

4
⎯⎯, …

8, −4, 2, … −6, −18, −54 5, 10, 20, …

9, −3, −
1

3
⎯⎯, … 27, 3,

1

3
⎯⎯, 

1, 2, 4, … 10, 100, 1000, … 0.3, 0.33, 0.333, …

Find the sum of the first 6 terms. 𝒔𝟔 =? , 𝒏 = 𝟔

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

Find the sum of the first 9 terms  

Find the sum of the first 11 terms.

Find the sum of the first 5 terms.
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2, 4, 8, … . . 256 3, 9, 27, … … . . 729 5, 25, 125, … … .3125

8, −4, 2, … … . .
1

256
⎯⎯⎯ −6, −36, −216 … … … − 46656 5, 10, 20, … … … 160

27, 3,
1

3
⎯⎯, … … . .

1

2187
⎯⎯⎯⎯⎯

1, 2, 4, … … .65536 10, 100, 1000, … … .1000000

Find n, and the sum

𝑡௡ = 𝑡ଵ𝑟௡ିଵ

𝑡௡

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯

2,
1

2
⎯⎯,

1

8
⎯⎯, … … …

1

512
⎯⎯⎯ 9, −3, 1, … …

1

81
⎯⎯⎯

0.3, 0.03, 0.003, … 0.00000000003
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What is the sum of the infinite sequence?

_____,   ______,   ______,  …4             2              1 _____,   ______,   ______,  …2             4              8

_____,   ______,   ______,  …
1            

1

2
⎯⎯             

1

4
⎯⎯ 

_____,   ______,   ______,  …
−1        −

1

2
⎯⎯         −

1

4
⎯⎯ 

_____,   ______,   ______,  …2             6              18

𝑡ଵ = 2, 𝑟 = 2 𝑡ଵ = 8, 𝑟 =
1

2
⎯⎯
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෍ 3𝑘

ହ

௞ୀଵ

=

𝑻𝒂𝒌𝒆 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒕𝒆𝒓𝒎𝒔 𝒂𝒌 𝒇𝒓𝒐𝒎 𝒕𝒉𝒆 𝒊𝒏𝒅𝒆𝒙 𝒕𝒐 𝒏, 𝒈𝒐𝒊𝒏𝒈 𝒖𝒑 𝒃𝒚 𝟏 𝒆𝒂𝒄𝒉 𝒕𝒊𝒎𝒆. 

෍ 3(2)௞ିଵ

଺

௞ୀଶ

=

Arithmetic

Geometric

෍ 2𝑘 − 1

ହ

௞ୀଶ

=

෍ −2𝑘 − 1

ହ

௞ୀଶ

=

෍ 2(3)௞ିଵ

ସ

௞ୀଵ

=

෍ 3(
1

2
⎯⎯)௞ିଵ

ஶ

௞ୀଵ

=
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If you make $36, 000 in your first year at work and get a raise of $3000 per year. How much 
will you make in your 10th, 20th, 50th year at work?

How much will you make total after 10 years, 20 years and 50 years?
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A ball rolls off a building 100 m tall. Each time the ball bounces on the floor, it rises to 80% of the 
previous height. 

How high does the ball bounce after the first bounce? The third bounce?

How high does the ball bounce after the nth bounce? (Find the general formula) 

𝐻𝑜𝑤 ℎ𝑖𝑔ℎ 𝑑𝑜𝑒𝑠 𝑡ℎ𝑒 𝑏𝑎𝑙𝑙 𝑏𝑜𝑢𝑛𝑐𝑒 𝑎𝑓𝑡𝑒𝑟 𝑡ℎ𝑒 9𝑡ℎ 𝑏𝑜𝑢𝑛𝑐𝑒. (𝑡ଵ଴ =? )

What is the total vertical distance the ball has 
travelled when it hits the ground for the 5th 
bounce? (𝒔𝟓 =? × 𝟐 − 𝟏𝟎𝟎)

If it bounces forever, what is the total 
distance? 
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If you make $1 in your first year at work and get paid double each year after. How much will you make in your 
10th, 12th, 20th year at work?

How much will you make total after 10 years, 12 years and 20 years?
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